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DO000000o0oododdoddThat table measures
ten feet by five.0 OO O OO O 0O 100 O O O 50 O O The traditional
pattern of classroom experience at the college level brings the
professor and a group of 20 to 30 students together for a
45-t0-50-minute class session two or three times a week.[] (1 [0 I [
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[ O O There are 203817 voters on the electoral rollsCJ [ [0 O [0 [
(12038170 O O O O Nearly thirty thousand voters took part in this
election030 D 0000000 O0OO0O O30 00OO0ON
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[ Maximum swivel of table s 120.0 O O O 0O O 0O O 0O O O 1200
0 0O 0O 0O O 3rd march 199100 3 march 199100 a discount of 5
percent] 5% 0 OJ O O O purchased 7 yards of carpetl] [J 700 [
[J O O O ordered 2 pounds of minced steak (1 [ (I 200 00 O O [
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[1 about five miles per hour] UJ 00 OO 00 OO 500 OO O OO [ at least ten
yards away(] [J [0 [J 1000 O O O O hesitated for a moment or two
00000000 O have warned you a hundred times [0 O [
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JO0000000000000000 The new engine has a
capacity of 4.3 liters and a power out-put of 153 kilowatts at 4400
revolutionsperminutel D 0 OO0 00O O0O004300000
00044000 O O 0O O 0O 0O 1530 O O we know that the weight of
a cubic foot of air at 011 L1 and 76cm(] pressure is 0.08] pound, or 12
cubic feetofairweighapound. 0 0 OO0 01000000000
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00000000000 4th July is an important date in
American history.[J J [0 O the fourth of July...19 couples took part
in the ballroom dancing competition.190 O O OO0 O 0O O 0O O O
0 O O 0O O O Nineteen couples took[] 60% profit was a reported
O 000060%0 0000000 0O Sixty per cent profitl] 1345
kilograms force was applied at the center point of the bar..J O [ [J
0000013450 0 O O O O O When tested, a force of 1345 kg
wasappliedU D6 00O 0O0O0OO0O0OO0OOOOOOO
[1 [J At least two-thirds of the class have had colds. 0O [0 U [0 O [
0000000000 0O O Nitrogen forms about four-fifths of
theatmosphere. 1 O U OO0 O OOOOO 100Test O O 0O 0O O
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